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General punctuation task

Identify and correct the errors in the sentences below. There may be: missing
punctuation(MP) incorrect punctuation (IP) or use of punctuation when there should
be no punctuation (UP) Some sentences may have more than one error.

1. The workers prior assumptions and their views on the importance of
autonomy and innovation made them less willing to accept bureaucratic
change. MP (workers')

2. Ininitial trals there were problems with sustainability, therefore the
components were derived from a renewable source in order to improve the
green credentials rating. IP and MP (... sustainability. Therefore,...)

3. This example shows how in some situations, including the manufacturing
industry, a bureaucracy may still be preferable and, can be linked with
some characteristics of other organisational forms to establish a successful
organisation. UP and MP (... still be preferable, and can be

4. The following organisations were involved in the decision to back the
changes; UNICEF, Save the Children, Dr Barnados, and Care International. IP
(.back the changes: UNICEF ..

5. The branded product market has shown remarkable resilience to the
introduction onto the market of significant generic products which isa
surprise. MP (..generic products, whichis...

6. Brown (2015) suggests that policy makers should consult interested parties
to ensure there is 2 reason for new policy. Although itis important to remain
unbiased at alltimes. IP (..for new policy, although...)

7. Research into climate change uses modelling techniques, which use existing
data to project forward and make predictions. UP (..techniques which use
existing ..

8. The deposition of emperors by the army, became a common theme in
the third century, as soldiers began to distrust their commanders and the
‘emperors to whom they had sworn allegiance. UP (..by the army became a
common ..




